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1. Introduction 4. Solution
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Dataset C0Co Open Images V7 YouTube* Pascal VOC 2012

The # of class 80 (motorhike - 43) 1 (motorhike - 43) 1 (motorhike - 43) 1 (motorhike - 43)
The # of image 121408 1805 100 574

Usage Train Train Test

Recall

100 200 (6] 100 200 100 100 200
val Objectness val Classification mMAP@0.5 MAP@0.5:0.95

2. Theoretical Discussion

43| EFZ|(Multi-Object Detection)
WA 22| = O|0[X| =2 H|C|2 LHOf|A] 54 SeliA(class)e| ZHA|2e| RIARA(instance)E &A

ask)2, 2|29| SOTA(the state-of-the-art)= 2.5 B2 HEL/3(DNN)Z 7|8to 2 5104,
hod®} two-stage method2 258 4 ULt One-stage method= &= ECH= £ 20
=g o 2 oA 2RI2&= YOLO, SSD 2 RetinaNet 50| QIC} Two-stage methode EFA|
st & QMAISHH, Of| 4| 220f|= Faster R-CNN, Mask R-CNN & Cascade R-CNN S0| Z&SH=ICt
z2|2 HO| AR &= o5 HIO|E2& DI0| A2 AT E0|| Al F7Het MS COCOO0|HH, "It A|H (evaluation
metric) 22= YBHH 2 =2 mAP(mean average precision)O| AFEEICY,
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3. Problem

SEXIELCEXALE 2.5 =2 O|EXHAlLL
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https://blogs.nvidia.com/blog/2017/11/23/safer-autonomous-driving/

